(7/6/10 -2 7wan?) 5 22370

D' € BC, E' € CA, -wa nrnwnanrnmoxinm AD', BE', CF' vy wwn ABC 7 .1
DrwRe,p DL EL F -w o . F' € AB

ANIR O3 179X 777 O9R1TT DR 1701 ,NIN2T MIVYY DOAORNAT 221X DR 17X L2

-1 nRepP D,B,C -w 75 mnw mipi E,D -1 nrare2p &2 mnw m7ipi A,B,C ox (X
1R DLEF -1 nvaRe21p ABLF -w 79 F 7P w0 1R e C,ALE

W 5y MW MR S1,S,,S3 -1 W By mnw MTPl 11 Ri,Ro,R3 oR :[vvr 0190 vown] (2
R,S5 M R3S,, R1S3 M R3Sy, mpan ik P a7ipia oowanl RSy, RoS,, R3S3 0w ax s
1,8 DWW QY CLIMPNR RITW p W Ky MRenl RS, N R,S

2¥ MW WK (R 2¥n) 1mRyH 220001197 IWOn NPT MY NX1ap Yy 9ono1 .3
(f(x)e{0,1,00} ,xe{0,1,00} 939 — &"7) {0,1,00} 7¥12P7

OPDIMATR I 29" 1T MPNYITT NXIAP NDIMIPR M0 IR (R

NIIX2 JNIX 1202 — KR"'T) 1210 DR IR 2737 19X NPLPOD MpnY s (2

(f(x) = (ax+b)/(cx+d)

PSL(2,R) -2 9% mpnyah nuadknan mxewan nkany (3

MR qay o aw Fon 4

.GL,(F) 5w 27071 nX Wxn (X

PGL,(F) := GL,(F)/Z(GL,(F)) ¥ 17077 nX 1R¥»1 (2

q+1 2y MmN N0 X0 Symgs WRD)  PGLo(F) 2 Symgy  2r97mumi 0 pw 1o (4
>5 M2y DY IPR 1T arsMMIMIIY 11T (272K

Y'IN R AT AP o (7 *

PSL,(F) ~ A4 -1 PGLy(F) >~ Symy -w vy .22k 3 avy 37w For .5



